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Use of calculator is not permitted.
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nq%"mﬁ?ﬁmwwiim@nﬁ'ﬁa%l

Question Nos. 2 10 6 are very shor answer type questions

Each question carries 2 marks.

(iv) mm7ﬂ1owaﬁagmﬂum%|mmmsaﬁ;

rEifea )
Question Nos. 7 to 10 are very

Each question carries 3 marks,

short answer type questions.
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(v) W R 11 W 14 9 YSTOE WY © | Wk W # AaRE
foshed ¥ | Wl e W 4 i aTafed § |
Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
(vi) W I 15 T 16 TEY3TUd U9 § | Toieh 9eq o fiafies fasmeq
# 1 T W W 5 37T aTeifed ¥ )
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.
(vil) W A% 17 T& 18 ST W% § | Wlish Wed § s7iafier fasey
€| 9® T W 6 IiF Efed ¥ |
Question Nos. 17 and 18 are long answer type questions, Each

question has an internal choice. Fach question carries 6 marks

-1 (EUS-37) TRt fashey gt fafige UxS-S]

(Part-A) Choose and write the correct option

(i) tan (90° - 60°) =1 |71 By -
(e 3

() 1

(7)) 0

-




B

(11

[3]

The value of tan (90"~ 60°) will be :

@ 3

) |

© 0

(d)

-

WP(I)=x2—5x+6ﬁ5?ﬁﬁ?ﬂ'éﬂﬂW€m:

(37) -5

(& 5

(3) 6

The sum of the zeroes of the polynomial P(x) = x

(a) -5
w -8
5

(c) 5

(d)y 6

Sx + 6 will be :
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PT.0.



(4]

(iif) ﬁmmmmmmmwlﬁmm%?

(iv)

(3N T
(@) QA
(7 91
(7) o8 A HE T

How many tangents can be drawn at any particular point on the circle?

(a) one
(b) two

(c) three

(d) None of these

e § 4 F-a w9 T T 2

(3) x+=2
X

(@ x2+7Jx+9=0

() x?-9=4

() x*+x= -‘E

2

Which of the following equations is not a quadratic equation?
1

(@) x+—=2

X

b)) *+7Jx+9=0

(€) x*-9=4

%m
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() 5%
(7 20%
(@) 10%
() 30%

A person whose a :
will have to pay tax along with cess

@ 5%
(b) 20%
) 10%
d 30%

(wue-a ) 3faa gy Sife
(Part-B) Match the following :

(iif)

(iv)

(A)
Y Y@ 2y + x = 4 T 0@ 6 I Tt
Slope of line in the straight line
2y +x=4 will be
Ife ) TrEy Fas o aAw
R §, W A By o ¥
If areas of two similar triangles are
equal, then those triangles are

R qeT 10 1 WHIRR el B

The arithmetic mean of 8 and 10 will be
Iz 0 = 45° 1, A tan20 T A €M

If © = 45°, then the value of tan6 will be
forelt ¥ =Y g Faull 1 SO Bl ¥

The number of surface diagonals of a
cube 15

S-2A+4

nnual taxable income is more than R

s. ten lakh,

[ 1x5=
(B)
(a) 1
(b)y 9
(c) _1
2
(d)' 12
(e) 1‘F’nﬂ"T"\:T‘:lfCt.m{f_j,ruem

P.T.O.



(2]
t = :x2~10x=0
€ Quadrgy; .

[6]

' . [1xs,
(Tve-u ) figa &l Ft 7 Fifeg . .5]
(Part-C) Fill in the blanks :

' 2l
(i) W Hemsl & o wew der gl

' /S number.
The square of even numbers is always

(i) 12 3 6 I GrAER ____ N

The third proportional of 12 and 6 will be

—

(iii) mﬁgﬁﬁmﬁﬁﬁwmﬁﬁWﬁH@ﬁ%I

The lengths of tangents drawn from an external poiny of circle are

——

(iv) ﬁqnﬁmmﬁwﬁw%,ﬁ Fed ¥ |

Iculated i called
(v) aﬁmﬁg%ﬁi‘w‘ (8,0) 7 7 fag

If the Co-ordinate of any point is
on the

The amount on which the Interest s ¢y .
18] 9T feerg g

this point wil] exjg

(8, 0). then

axis.

cos265° + cos2250

qu‘wnaﬁﬁw

[2]
Find the vajye of cos2650 + cos2p5o.
EIfﬁlﬁx*'"S):-‘-lS wls Bﬁ,ﬁxmmm%@
If (x+ 35):45:. 1 : 3, then find the valye of x,

AT €, M 34 X yav g #fe [2)
» 9) and (5, 3), then find the slope of




ayi-6

we-10

T-11
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[7]

mm@@mmm: 21
35, 31, 33, 28, 30, 32, 34
Find the median of the following data :
35, 31, 33, 28, 30, 32, 34
a1 gftgoT x2 -~ 5x + 6 =0 %qﬁaﬁmmﬁml (3]
‘ ' 2_ 5y +6=0.
Find the nature of roots of the quadratic equation X
mmﬁuﬁzkmt{mﬁw{vﬁﬁ%,aﬁkww%l (3]
Prove that 2k + 7 is an odd integer. where & is an integer.
s@ﬁ.mmﬁaﬁﬁmwmmmmi (3]
Find the surface area of a hemisphere of diameter 8 cm.
g (x - 1), T P(x) =k~ Sy-+ 3 1 OGS §, A k1 WA T I (5]
- 5x + 3.

Find the value of kif (x — 1) is a factor of the polynomial P(x) = foc=

14@.#@%%%@@%88@1%. ¥ | Yo T A™AA
F1a Hiferd |
Area of curved surface of cylinder, whose height is 14 c¢cm. is 88 square
cm. Find the volume of the cylinder.

ear

OR

wﬁmmawmmwnaﬁ@ﬁr.%wmmmm

14 300, 9, 7 5@ i 1 S A HNAC

If the curved surface area of a cone is 77m square ¢m and diameter of its

base is 14 cm, then find the height of the cone.

[4]
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60-70 | 70-80

Tt
—

fyoung and old groups of children (students) of a senior
01 i:.: given below. Find the mean of the data -

Data of weight

-40 | 40-50 50-60 60-70 —
[ in kg 30
Weight in - — : : :
Number of students
Hqar
OR

@_ﬁa@qm@aWﬁﬁa@@ﬂm‘mmmaﬁﬁﬁaﬁ
e & 3ilers dferht § fSU M 1§79 SAHST B g qa S

faaret =it v 0-50 [ 50-100 | 100-150 | 150-200 21@0-2501250-300j
TigETal Wt HET 4 5 16 12 3 5

Wickets taken by many bowlers in international one-day cricket matches

are given in the table. Find the mode of the data -

Nos. of Wickets 0-50 50-100 | 100-150 150-200 200-250 250-300
[Nos. of Bowlers 4 3 16 12 2

-
il

w13 Fﬂ%?ﬁmmﬁmﬁgmﬁw@%mwaaﬁaﬁm@_

f““ﬁﬁaﬁw%méwwﬁm?ﬁ%%@mﬁwﬁaﬁ
T & ST A faforg wed 3 (4]

Pro ' . , v i e el

and intersects {he other two sides at different points, then this line divides
these twg sides in the same ratjo.

feqr

Mfr
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If PAB is a secant to a circle which intersects the circle at 4 angd B, and pPT

is a tangent to the circle, then prove that PA x PB=pp2

TAGRY B | [4]
Find the relation between « and y

the points (7, 1} and (3, 5).

such that point (x, ¥) is equidistant from

eraT
OR

I%WWW#szwmamaﬂ%xaihx%mﬁ%ahwm
Fifeu | YA 4R 4 et

Padmani opened a recurring deposit account in district Cooperative bank

for 10 years and her monthly installment is Rs. 100. If op maturity she gets

Rs. 3,025 as interest, then what is the rate of interest per annum?

Herqr
OR

LREES 2013—20141?@?@%@%3%aflTéM,w,ooo %, ot
MZ‘I,OOO 1:,_"eﬁaqaﬁmqﬁ%@$rmﬁa;ﬁﬁuqﬁ, 4,000 %, WfdHE VH
mﬁﬁ?ﬁ@i 25,000 . I UM S=a v @iy § s foranr ¥ 1 3 o
"megﬁmm@ma ©, W ¥ ST < o
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T i AR |
®. HT QR Gy TR ht o
1. 12,00,000 % % IS AIH &I
2. [2,00,001% ® 5,00,000%. a& 10%
3. 15,00,001 & & 10,00,000%. 9% 20%

THF AfaftEd, <3 SGH T 3% foen gt o £

The income of a government employee in financial year 2013-2014 was
Rs. 4,10,000. She deposited Rs. 24,000 as yearly premium on life insurance
policy, Rs. 4,000 every month in General Provident Fund and she also
purchased a national savings certificate worth Rs. 25,000. If a maximum
of Rs. one lakh can be invested in any type of saving to qualify for tax
rebate, then calculate the payable tax.

The rates of tax are as follows :

S. No. Tax Limits Rate of Tax
Up to Rs. 2,00,000 NIL
Rs. 2,00,001 to Rs. 5.00,000 10%
3. Rs. 5,00,001 to Rs. 10,00.000 20%

In addition, a 3% education cess has to be paid over the income tax.

AABC % Hfige &1 T &ifSn, ST 48 - 8 &, BC - 5 AW, sl LABC
= 60° % | T8 % g off fafau

Construct a circumcircle of AABC, where AB = 8 c, BC = 5 em and
LABC = 60°. Write the steps of construction.

+_;|

(5]

rerar

OR

T APQR & T fag, ol OR = 6 8., PO = 58 3R ZPOR = 60°
199 € @ 3 AABC ) =y wifag, foad AB=%PQ B

Construct a APQR in which QR = 6 cm, PO = 5 ¢cm and ZPQR = 60°,
2
Also construct a AABC in which AB= 3 PQ .

S-2A+
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17 ﬁﬁﬁ@WWWW 3fehi & Tere T =T el wee
,ﬁq W%amm%mﬁaﬂlﬂm%ﬁtaﬂmmaﬁﬁa@ ARR 6

Seven times of a two- _digit number is equal to 4 times of the number fonned
The sum of the two digits is 3. Find the number.

by reversing the digits.
3yerar

OR
farelt T 3 % A P, g3 3R /4 72 B, 0 fag =ifsm f

g a, b ¢
a(g—r) + b(r - pytep-q)= 0
If, p'*. ¢ and '/ terms of an arithmetic progression are a, b, ¢ respectively,
then prove that
alg—r)+ br-p)+ecp—q) =0

https.,"/www.cgboardonlme .com

cosB cos© _> (6]

frfoara G g6 il +
cosecB+1 cosecB-1

Tv-18

cosf s O
cos _5

Solve the trigonometric equation :
cosecB+1 cosecO—1

Hear
OR

T Hith TeE TH Ve F UG 9 W | 96 & e W Y UF SEH U
FR F1 30° F GTHA IV W TG 7 | FR 97 & 1€ Hf 3R THGHH 9761 9
At & 130 HY. T & o R T AGTHA K0 60° B AT S, A WA F S48
Fd HIfAT |

A straight road goes straight up till the base of the building. A man
the top of the building sees a car at 30° angle of dcprCSSi{);: The :,arorz

moving towards the building at a uniform speed. After the car has covered
a distance of 30 meters, the angle of depression becomes 60°. Then find

the height of the building.
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